

CUBO DE UN BINOMIO

I.- Completa y resuelve

a) $(x + 6)^3$



=

$$3 \text{ [yellow box]}^2 \text{ [pink box]} =$$



=

$$3 \text{ [pink box]}^2 \text{ [yellow box]} =$$

=

Respuesta: _____

a) $(x + 8)^3$



=

$$3 \text{ [yellow box]}^2 \text{ [pink box]} =$$



=

$$3 \text{ [pink box]}^2 \text{ [yellow box]} =$$

=

Respuesta: _____

II.- Arrastra los números y resuelve la solución

a) $(x + 3)^3$

 ³ =

3  ²  =

 ³ =

3  ²  =

=

Respuesta: _____

a) $(x + 5)^3$

 ³ =

3  ²  =

 ³ =

3  ²  =

=

Respuesta: _____

